Statistical Reasoning 





Name _____________________________

Unit 3 –Normal Standard Table (Day 3)

Finding the Z-Score

1. The z-score that corresponds to an area of 0.8888.

2. The z-score that corresponds to 0.4090 of the distribution’s area to the right.

3. For a normal distribution, find the z-score that separates the distribution as follows:

a) Separate the highest 30% from the rest of the distribution. 

b) Separate the lowest 40% from the rest of the distribution. 

c) Separate the highest 75% from the rest of the distribution.  

Solving for Values

4. The Welcher Adult Intelligence Test Scale is composed of a number of subtests.  On one subtest, the raw scores have a mean of 35 and a standard deviation of 6.  Assuming these raw scores form a normal distribution:
a) What number represents the 65th percentile (what number separates the lower 65% of the distribution)? 
b) What number represents the 90th percentile? 
5. Rachel wonders how much television kids watch these days. She figures children television usage in a day is normally distributed with a mean of 2 hours and a standard deviation of 0.3 hours.

a) What is the number that separates the bottom 19% of children television usage?  
b) What is the number that separates the top 24% of children television usage?  
6. Scores for the California Police Officer Standards and Training test are normally distributed, with a mean of 50 and a standard deviation of 10. 
a) An agency will only hire applicants with scores in the top 10%. What is the lowest score you can earn and still be eligible to be hired by the agency? 
b) Those officers scoring below the 20th percentile are sent to undergo additional training. What is the minimum score needed to avoid this training? 
7. The length of time employees have worked at a particular company is normally distributed with mean 11.2 years and standard deviation 2.1 years.
a) If the lowest 10% of employees are to be laid-off in a cutback, what is the maximum length of time that an employee could have worked and still be laid off? 
b) If the highest 10% of employees are to be promoted, what is the minimum length of time that an employee could have worked and still be promoted? 
8. Scores on the SAT form a normal distribution with 
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a) What is the minimum score necessary to be in the top 15% of the SAT distribution? 

b) Find the z-scores that define the middle 80% of the distribution of SAT scores (372 and 628).
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